# CONVEXITY FOR THE PROPORTION OF ONE MEAN WITH RESPECT TO ANOTHER PROPORTION OF MEAN

#### SREENIVASA REDDY PERLA AND S PADMANABHAN

Abstract: Convexity/Concavity nature proportion of contrast of means are for the most part discussed. In any case, in this paper relative investigation of Convexity/Concavity between proportion of distinction of means are found and these outcomes are deciphered in Vander Monde determinants.

### 1. Introduction

The outstanding means in writing, for example, Arithmetic mean, Geometric mean, Harmonic mean and Contra Harmonic mean are displayed by Pappus of Alexandria. In Pythagorean School based on extent and furthermore a portion of alternate means like Heron mean and Centriodal Mean are characterized as takes after [1, 2] and some intriguing outcomes on above said implies are talked about in [3-8].

For a, b > 0 be two real numbers, then

$$A(a,b) = \frac{a+b}{2}$$

$$G(a,b) = \sqrt{ab}$$

$$H(a,b) = \frac{2ab}{a+b}$$

$$H_e(a,b) = \frac{a+b+\sqrt{ab}}{3}$$

$$C(a,b) = \frac{a^2+b^2}{a+b}$$

$$C_d(a,b) = \frac{2(a^2+b^2+ab)}{3(a+b)}$$

are respectively called Arithmetic mean, Geometric mean, Harmonic mean, Heron mean, Contra Harmonic Mean and Centriodal Mean

J.Rooin and M Hassni, introduced the homogeneous functions, the function

$$f(x) = \frac{a^x - b^x}{c^x - d^x} \text{ and } g(x) = \frac{a^x - b^x}{c^x - d^x} \text{ . For } a > b \ge c > d > 0 \text{ where } x \in (-\infty, \infty) \text{ is}$$

- (i) Convex, if ad bc > 0
- (ii) Concave, if ad bc < 0 and
- (iii) Equality holds, if ad bc = 0

In [16], authors studied the convexity(concavity) of the following proportion of difference of means.

(1.2) 
$$M_{CAGH}(a,b) = \frac{C(a,b) - A(a,b)}{G(a,b) - H(a,b)}$$

(1.3) 
$$M_{AH_eGH}(a,b) = \frac{A(a,b) - H_e(a,b)}{G(a,b) - H(a,b)}$$

(1.4) 
$$M_{CH_eGH}(a,b) = \frac{C(a,b) - H_e(a,b)}{G(a,b) - H(a,b)}$$

(1.5) 
$$M_{C_dAGH}(a,b) = \frac{C_d(a,b) - A(a,b)}{G(a,b) - H(a,b)}$$

(1.6) 
$$M_{CAH_{e}G}(a,b) = \frac{C(a,b) - A(a,b)}{H_{e}(a,b) - G(a,b)}$$

(1.7) 
$$M_{CC_{d}GH}(a,b) = \frac{C(a,b) - C_{d}(a,b)}{G(a,b) - H(a,b)}$$

Some fruitful results related to Schur convexities were also found in [15-22]. In this paper, we study the convexity of proportion of difference of means.  $M_{CAGH}(a,b)$ ,  $M_{AH_eGH}(a,b)$ ,  $M_{CH_eGH}(a,b)$  and

 $M_{C_{AGH}}(a,b)$  and some applications of these proportion of difference of means.

In[21],[22] Taneja has established chain of inequality for the binary means as follows

(1.8) 
$$H(a, b) \le G(a, b) \le N_1(a, b) \le H_e(a, b) \le N_2(a, b) \le A(a, b) \le S(a, b)$$

are respectively called arithmetic mean, geometric mean, harmonic mean, Heron mean, root square mean, square-root. where For a, b > 0 be two real numbers. Many proportion of difference of well known means are studied in [16]

(1.9) 
$$M_{SA}(a,b) = S(a,b) - A(a,b)$$

(1.10) 
$$M_{SN_2}(a,b) = S(a,b) - N_2(a,b)$$

(1.11) 
$$M_{SH_{e}}(a,b) = S(a,b) - H_{e}(a,b)$$

(1.12) 
$$M_{SN_1}(a,b) = S(a,b) - N_1(a,b)$$

(1.13) 
$$M_{sG}(a,b) = S(a,b) - G(a,b)$$

(1.14) 
$$M_{SH}(a,b) = S(a,b) - H(a,b)$$

(1.15) 
$$M_{AN_2}(a,b) = A(a,b) - N_2(a,b)$$

(1.16) 
$$M_{AG}(a,b) = A(a,b) - G(a,b)$$

(1.17) 
$$M_{AH}(a,b) = A(a,b) - H(a,b)$$
  
(1.18) 
$$M_{AH}(a,b) = A(a,b) - N(a,b)$$

(1.18) 
$$M_{N_2N_1}(a,b) = A(a,b) - N_2(a,b)$$

(1.19) 
$$M_{N_2G}(a,b) = N_2(a,b) - G(a,b)$$

The above difference of means are nonnegative and convex in  $\Re^2_+ = (0,\infty) \times (0,\infty)$ . We set of this section with the difference of means defined in the equations [1.9] to [1.19] The difference between of two means are as follows,

(1.20) 
$$M_{SN_2}(a,b) - M_{SA}(a,b) = A - N_2$$
  
(1.21) 
$$M_{SN_2}(a,b) - M_{SN_2}(a,b) = N_2 - H$$

(1.22) 
$$M_{SH_e}(a,b) - M_{SA}(a,b) = A - H_e$$

(1.23) 
$$M_{SN_1}(a,b) - M_{SH_e}(a,b) = H_e - N_1$$

(1.24) 
$$M_{SN_1}(a,b) - M_{SN_2}(a,b) = N_2 - N_1$$

(1.25) 
$$M_{N_1H}(a,b) - M_{GH}(a,b) = N_1 - G$$

(1.26) 
$$M_{SH}(a,b) - M_{SG}(a,b) = G - H$$

The above difference of means are convex for all positive real value of 't'.

Now, we established the proportion of difference of above means as follows:

(1.27) 
$$\frac{M_{SH_e} - M_{SA}}{M_{SN_1} - M_{SH_e}} = \frac{A - H_e}{H_e - N_1}$$

(1.28) 
$$\frac{M_{SN_2} - M_{SA}}{M_{SH_e} - M_{SN_2}} = \frac{A - N_2}{N_2 - H_e}$$

(1.29) 
$$\frac{M_{N_1H} - M_{GH}}{M_{SH} - M_{SG}} = \frac{N_1 - G}{G - H}$$

Results on convexity of one function with respect to another function were in detail discussed by Bullen [1] and also some convexity results on various important means and their applications to mean inequalities were found in [9, 11, 12, 14].

Zhen-Gang Xiao et al. [15] and various other authors have obtained some interesting and valuable results on generalization of heron mean, centriodal mean, root square means using the generalized Vander Monde's determinants. These type of generalizations and applications have generated an impressive amount of work in this field.

Let  $\varphi$  be a continuous function on an interval I  $\subseteq$  R,  $x = (x_0, x_1, \dots, x_n)$  and  $x_i \in I$ ,  $x_i \neq x_j$  for  $i \neq j$  (see[6]) Setting

$$V(x,\varphi) = \begin{vmatrix} 1 & x_0 & x_0^2 & \dots & x_0^{n-1} & \varphi(x_0) \\ 1 & x_1 & x_1^2 & \dots & x_1^{n-1} & \varphi(x_1) \\ \dots & \dots & \dots & \dots & \dots \\ 1 & x_n & x_n^2 & \dots & x_n^{n-1} & \varphi(x_n) \end{vmatrix}$$

Suppose that  $\varphi(x) = x^{n+r} \ln^k x$  then we have

$$V(x;r,k) = \begin{vmatrix} 1 & x_0 & x_0^2 & \dots & x_0^{n-1} & x_0^{n+r} \ln^k x_0 \\ 1 & x_1 & x_1^2 & \dots & x_1^{n-1} & x_1^{n+r} \ln^k x_1 \\ \dots & \dots & \dots & \dots & \dots \\ 1 & x_n & x_n^2 & \dots & x_n^{n-1} & x_n^{n+r} \ln^k x_n \end{vmatrix}$$

#### 2. Definitions and Lemma

In this section, we presented some definitions and lemmas ,which are necessary to develop this paper.

**Definition 2.1.** A mean is defined as a function  $M : \mathbb{R}^2_+ \to \mathbb{R}_+$  which has the property

$$a \wedge b \leq M(a,b) \leq a \vee b, \forall a,b > 0,$$

where  $a \wedge b = \min(a,b)$  and  $a \vee b = \max(a,b)$ .

**Lemma 2.1:** For  $\varphi(x) = x^2$  and  $x = (x_0, x_1, \dots, x_n)$  Eq.(1.2) is the Vander Monde's determinant of order three in the form:

(2.1) 
$$v(x;r=0,k=0) = \begin{vmatrix} 1 & x_0 & x_0 \\ 1 & x_1 & x_1^2 \\ 1 & x_2 & x_2^2 \end{vmatrix}$$

which is equivalently

(2.2) 
$$v(x; r=0, k=0) = (x_1 - x_0)(x_2 - x_0)(x_2 - x_1)$$

**Lemma 2.2:** For  $\varphi(x) = x^{\frac{1}{2}}$  and  $x = (x_0, x_1, \dots, x_n)$  Eq.(1.2) is the Vander Monde's determinant of order three in the form:

(2.3) 
$$v(x; r = -\frac{3}{2}, k = 0) = \begin{vmatrix} 1 & x_0 & \sqrt{x_0} \\ 1 & x_1 & \sqrt{x_1} \\ 1 & x_2 & \sqrt{x_2} \end{vmatrix}$$

which is equivalently

(2.4) 
$$v(x; r = -\frac{3}{2}, k = 0) = (\sqrt{x_1} - \sqrt{x_0})(\sqrt{x_2} - \sqrt{x_0})(\sqrt{x_2} - \sqrt{x_1})$$

Setting a = x and b = 1 in arithmetic mean, geometric mean, harmonic mean, Heron mean, Contra Harmonic Mean and Centriodal Mean takes the following functions form;

$$A(x,1) = \frac{x+1}{2}$$
$$G(x,1) = \sqrt{x}$$
$$H(x,1) = \frac{2x}{x+1}$$

$$H_{e}(x,1) = \frac{x+1+\sqrt{x}}{3}$$
$$C(x,1) = \frac{x^{2}+1}{x+1}$$
$$C_{d}(x,1) = \frac{2(x^{2}+1+x)}{3(x+1)}$$

**Lemma 2.3:** Let f(x) and g(x) are two functions, then f(x) is said to be convex with respect to g(x) for  $a \le b \le c$  if and only if

(2.5) 
$$\begin{vmatrix} 1 & f(a) & g(a) \\ 1 & f(b) & g(b) \ge 0 \\ 1 & f(c) & g(c) \end{vmatrix}$$

which is equivalently

(2.6) 
$$\begin{vmatrix} 1 & f(a) & g(a) \\ 1 & f(b) - f(a) & g(b) - g(a) \\ 1 & f(c) - f(a) & g(c) - g(a) \end{vmatrix} \ge 0$$

or

(2.7) 
$$[f(b)-f(a)][g(c)-g(a)]-[f(c)-f(a)][g(b)-g(a)] \ge 0$$

#### **3. MAIN RESULTS**

In this area, the fundamental and sufficient conditions for convexity proportion of contrast mean with deference to another distinction of means are talked about and the conditions are communicated as far as Vander Monde's determinants.

Theorem 3.1. In the proportion of difference of means

$$M_{CAGH}(a,b) = \frac{C(a,b) - A(a,b)}{G(a,b) - H(a,b)}$$

the difference of mean C(a,b) - A(a,b) is convex(concave) with respect to another difference of mean G(a,b) - H(a,b) if and only if  $v\left(a; r = -\frac{3}{2}, k = 0\right) \ge (\le)0$ 

**Proof.** Consider the difference of mean C(x,1) - A(x,1) and G(x,1) - H(x,1) in the form;

$$C(x,1) - A(x,1) = \frac{(x-1)^2}{2(x+1)}$$
 and  $G(x,1) - H(x,1) = \sqrt{x} - \frac{2x}{x+1}$ 

Let

$$f(x) = \frac{(x-1)^2}{2(x+1)}$$
 and  $g(x) = \sqrt{x} - \frac{2x}{x+1}$ 

then by Lemma 2.3 we have

$$\begin{array}{cccc}
1 & f(a) & g(a) \\
1 & f(b) - f(a) & g(b) - g(a) \\
1 & f(c) - f(a) & g(c) - g(a)
\end{array}$$

or

$$[f(b) - f(a)][g(c) - g(a)] - [f(c) - f(a)][g(b) - g(a)] \ge 0$$

on simplifying the determinant leads to

(3.1)  
$$f(b)[g(c) - g(a)] + f(c)[g(b) - g(a)] + f(a)[g(b) - g(c)] \ge 0$$
$$\sum f(b)[g(c) - g(a)] \ge 0$$
$$\sum \frac{(a-1)^2}{2(a+1)} \left[ \sqrt{b} - \sqrt{c} - \frac{2(b-c)}{(b+1)(c+1)} \right]$$
$$\sum \frac{(a-1)^2 \left(\sqrt{b} - \sqrt{c}\right)}{2(a+1)(b+1)(c+1)} \left[ (b+1)(c+1) - 2\left(\sqrt{b} + \sqrt{c}\right) \right] \ge 0$$

From Lemma 2.2

(3.2) 
$$\sum (a-1)^2 \left(\sqrt{b} - \sqrt{c}\right) \left[ (b+1)(c+1) - 2\left(\sqrt{b} + \sqrt{c}\right) \right] = v \left(a; r = -\frac{3}{2}, k = 0\right) \ge 0$$

similarly by considering

$$f(x) = \sqrt{x} - \frac{2x}{x+1}$$
 and  $g(x) = \frac{(x-1)^2}{2(x+1)}$ 

(3.2) 
$$\sum (a-1)^2 \left(\sqrt{b} - \sqrt{c}\right) \left[ (b+1)(c+1) - 2\left(\sqrt{b} + \sqrt{c}\right) \right] = v \left(a; r = -\frac{3}{2}, k = 0\right) \le 0$$

By combining equations 3.2 and 3.3, the proof of Theorem 3.1 is completes.

Theorem 3.2. In the proportion of difference of means

$$M_{AH_eGH}(a,b) = \frac{A(a,b) - H_e(a,b)}{G(a,b) - H(a,b)}$$

the difference of mean  $A(a,b) - H_e(a,b)$  is convex(concave) with respect to another difference of mean G(a,b) - H(a,b) if and only if  $v\left(x; r = -\frac{3}{2}, k = 0\right) \ge (\le)0$ 

**Proof.** Consider the difference of mean  $A(x,1) - H_e(x,1)$  and G(x,1) - H(x,1) in the form;

$$A(x,1) - H_e(x,1) = \frac{x+1-2\sqrt{x}}{6}$$
 and  $G(x,1) - H(x,1) = \sqrt{x} - \frac{2x}{x+1}$ 

Let

$$f(x) = \frac{x+1-2\sqrt{x}}{6}$$
 and  $g(x) = \sqrt{x} - \frac{2x}{x+1}$ 

then by Lemma 2.3 we have

$$\begin{array}{cccc} 1 & f(a) & g(a) \\ 1 & f(b) - f(a) & g(b) - g(a) \\ 1 & f(c) - f(a) & g(c) - g(a) \end{array} \ge 0$$

or

$$[f(b) - f(a)][g(c) - g(a)] - [f(c) - f(a)][g(b) - g(a)] \ge 0$$

on simplifying the determinant leads to

$$(3.4) f(b)[g(c) - g(a)] + f(c)[g(b) - g(a)] + f(a)[g(b) - g(c)] \ge 0$$

$$\sum f(b)[g(c) - g(a)] \ge 0$$

$$\sum \frac{(\sqrt{a} - 1)^2}{6} \left[ \sqrt{b} - \sqrt{c} - \frac{2(b - c)}{(b + 1)(c + 1)} \right]$$

$$\sum \frac{(\sqrt{a} - 1)^2 (\sqrt{b} - \sqrt{c})}{6(b + 1)(c + 1)} [(b + 1)(c + 1) - 2(\sqrt{b} + \sqrt{c})] \ge 0$$

From Lemma 2.2

(3.5) 
$$\sum \left(\sqrt{a} - 1\right)^2 \left(\sqrt{b} - \sqrt{c}\right) \left((b+1)(c+1) - 2\left(\sqrt{b} + \sqrt{c}\right)\right) = v \left(a; r = -\frac{3}{2}, k = 0\right) \ge 0$$

similarly by considering

$$f(x) = \sqrt{x} - \frac{2x}{x+1}$$
 and  $g(x) = \frac{x+1-2\sqrt{x}}{6}$ 

(3.2) 
$$\sum \left(\sqrt{a} - 1\right)^2 \left(\sqrt{b} - \sqrt{c}\right) \left((b+1)(c+1) - 2\left(\sqrt{b} + \sqrt{c}\right)\right) = v \left(a; r = -\frac{3}{2}, k = 0\right) \le 0$$

By combining equations 3.4 and 3.5, the proof of Theorem 3.2 is completes.

Theorem 3.3. In the proportion of difference of means

$$\frac{M_{SH_e} - M_{SA}}{M_{SN_1} - M_{SH_e}} = \frac{A - H_e}{H_e - N_1}$$

the difference of mean  $A(a,b) - H_e(a,b)$  is convex(concave) with respect to another difference of mean  $H_e(a,b) - N_1(a,b)$  if and only if  $v\left(a; r = -\frac{3}{2}, k = 0\right) \ge (\le)0$ 

**Proof.** Consider the difference of mean  $A(x,1) - H_e(x,1)$  and  $H_e(x,1) - N_1(x,1)$  in the form;

$$A(x,1) - H_e(x,1) = \frac{x+1-2\sqrt{x}}{6}$$
 and  $H_e(x,1) - N_1(x,1) = \frac{(\sqrt{x}-1)^2}{12}$ 

Let

$$f(x) = \frac{x+1-2\sqrt{x}}{6}$$
 and  $g(x) = \frac{(\sqrt{x}-1)^2}{12}$ 

then by Lemma 2.3 we have

$$\begin{vmatrix} 1 & f(a) & g(a) \\ 1 & f(b) - f(a) & g(b) - g(a) \\ 1 & f(c) - f(a) & g(c) - g(a) \end{vmatrix} \ge 0$$

or

$$[f(b) - f(a)][g(c) - g(a)] - [f(c) - f(a)][g(b) - g(a)] \ge 0$$

on simplifying the determinant leads to

$$f(b)[g(c) - g(a)] + f(c)[g(b) - g(a)] + f(a)[g(b) - g(c)] \ge 0$$
  
$$\sum f(b)[g(c) - g(a)] \ge 0$$
  
$$\sum \frac{(\sqrt{a} - 1)^2}{6} \left[ \frac{(\sqrt{b} - \sqrt{c})(\sqrt{b} + \sqrt{c} - 2)}{12} \right]$$

(3.7) 
$$\sum \frac{\left(\sqrt{a}-1\right)^2}{72} \left( \left(\sqrt{b}-\sqrt{c}\right) \left(\sqrt{b}+\sqrt{c}-2\right) \right) \ge 0$$

From Lemma 2.2

(3.8) 
$$\sum \left(\sqrt{a} - 1\right)^2 \left(\!\left(\sqrt{b} - \sqrt{c}\right)\!\left(\sqrt{b} + \sqrt{c} - 2\right)\!\right) = v \left(x; r = -\frac{3}{2}, k = 0\right) \ge 0$$

similarly by considering

$$f(x) = \frac{(\sqrt{x}-1)^2}{12}$$
 and  $g(x) = \frac{x+1-2\sqrt{x}}{6}$ 

(3.9) 
$$\sum \left(\sqrt{a} - 1\right)^2 \left(\!\left(\sqrt{b} - \sqrt{c}\right)\!\left(\sqrt{b} + \sqrt{c} - 2\right)\!\right) = v \left(x; r = -\frac{3}{2}, k = 0\right) \le 0$$

By combining equations 3.8 and 3.9, the proof of Theorem 3.3 is completes.

Theorem 3.4. In the proportion of difference of means

$$\frac{M_{SN_2} - M_{SA}}{M_{SH_e} - M_{SN_2}} = \frac{A - N_2}{N_2 - H_e}$$

the difference of mean  $A(a,b) - N_2(a,b)$  is convex(concave) with respect to another difference of mean  $N_2(a,b) - H_e(a,b)$  if and only if  $v(a;r=-\frac{3}{2},k=0) \ge (\le)0$ 

**Proof.** Consider the difference of mean  $A(x,1) - N_2(x,1)$  and  $N_2(x,1) - H_e(x,1)$  in the form;

$$A(x,1) - N_2(x,1) = \sqrt{\frac{x+1}{2}} \left(\frac{\sqrt{x+1}}{\sqrt{2}} - \frac{\sqrt{x+1}}{2}\right) \text{ and } N_2(x,1) - H_e(x,1) = \sqrt{\frac{x+1}{2}} \left(\frac{\sqrt{x+1}}{2}\right) - \frac{x+1+\sqrt{x}}{3}$$

Let

$$f(x) = \sqrt{\frac{x+1}{2}} \left( \frac{\sqrt{x+1}}{\sqrt{2}} - \frac{\sqrt{x+1}}{2} \right) \text{ and } g(x) = \sqrt{\frac{x+1}{2}} \left( \frac{\sqrt{x+1}}{2} \right) - \frac{x+1+\sqrt{x}}{3}$$

then by Lemma 2.3 we have

or

$$[f(b) - f(a)][g(c) - g(a)] - [f(c) - f(a)][g(b) - g(a)] \ge 0$$

on simplifying the determinant leads to

$$f(b)[g(c) - g(a)] + f(c)[g(b) - g(a)] + f(a)[g(b) - g(c)] \ge 0$$

 $\sum f(b)[g(c) - g(a)] \ge 0$ 

$$(3.10) \qquad \sum \sqrt{\frac{a+1}{2}} \left( \frac{\sqrt{a+1}}{\sqrt{2}} - \frac{\sqrt{a}+1}{2} \right) \left( \frac{\left(\sqrt{b}+1\right)\left(3\sqrt{b}+1-2\sqrt{2}\right) - \left(\sqrt{c}+1\right)\left(3\sqrt{c}+1-2\sqrt{2}\right) - 2\sqrt{2}\left(b+c\right)}{6\sqrt{2}} \right) \ge 0$$

9

From Lemma 2.2

$$(3.11) \quad \sum \sqrt{\frac{a+1}{2}} \left( \frac{\sqrt{a+1}}{\sqrt{2}} - \frac{\sqrt{a}+1}{2} \right) \left( \frac{(\sqrt{b}+1)(3\sqrt{b}+1-2\sqrt{2}) - (\sqrt{c}+1)(3\sqrt{c}+1-2\sqrt{2}) - 2\sqrt{2}(b+c)}{6\sqrt{2}} \right) = v \left( a; r = -\frac{3}{2}, k = 0 \right) \ge 0$$

similarly by considering

$$f(x) = \sqrt{\frac{x+1}{2}} \left(\frac{\sqrt{x}+1}{2}\right) - \frac{x+1+\sqrt{x}}{3} \text{ and } g(x) = \sqrt{\frac{x+1}{2}} \left(\frac{\sqrt{x}+1}{\sqrt{2}} - \frac{\sqrt{x}+1}{2}\right)$$

$$(3.12) \quad \sum \sqrt{\frac{a+1}{2}} \left( \frac{\sqrt{a+1}}{\sqrt{2}} - \frac{\sqrt{a}+1}{2} \right) \left( \frac{(\sqrt{b}+1)(3\sqrt{b}+1-2\sqrt{2}) - (\sqrt{c}+1)(3\sqrt{c}+1-2\sqrt{2}) - 2\sqrt{2}(b+c)}{6\sqrt{2}} \right) = \frac{1}{2} \int \frac{\sqrt{a}}{\sqrt{2}} \left( \frac{\sqrt{a}+1}{\sqrt{2}} - \frac{\sqrt{a}+1}{2} \right) \left( \frac{(\sqrt{b}+1)(3\sqrt{b}+1-2\sqrt{2}) - (\sqrt{c}+1)(3\sqrt{c}+1-2\sqrt{2}) - 2\sqrt{2}(b+c)}{6\sqrt{2}} \right) = \frac{1}{2} \int \frac{\sqrt{a}}{\sqrt{2}} \left( \frac{\sqrt{a}+1}{\sqrt{2}} - \frac{\sqrt{a}+1}{2} \right) \left( \frac{(\sqrt{b}+1)(3\sqrt{b}+1-2\sqrt{2}) - (\sqrt{c}+1)(3\sqrt{c}+1-2\sqrt{2}) - 2\sqrt{2}(b+c)}{6\sqrt{2}} \right) = \frac{1}{2} \int \frac{\sqrt{a}}{\sqrt{2}} \left( \frac{\sqrt{a}+1}{\sqrt{2}} - \frac{\sqrt{a}+1}{2} \right) \right)$$

By combining equations 3.11 and 3.12, the proof of Theorem 3.4 is completes.

Theorem 3.5. In the proportion of difference of means

$$\frac{M_{N_{1}H} - M_{GH}}{M_{SH} - M_{SG}} = \frac{N_{1} - G}{G - H}$$

the difference of mean  $N_1(a,b) - G(a,b)$  is convex(concave) with respect to another difference of mean G(a,b) - H(a,b) if and only if  $v(a;r=-\frac{3}{2},k=0) \ge (\le)0$ 

**Proof.** Consider the difference of mean  $N_1(x,1) - G(x,1)$  and G(x,1) - H(x,1) in the form;

$$N_1(x,1) - G(x,1) = \left(\frac{\sqrt{x-1}}{2}\right)^2$$
 and  $G(x,1) - H(x,1) = \sqrt{x} - \frac{2x}{x+1}$ 

Let

$$f(x) = \left(\frac{\sqrt{x}-1}{2}\right)^2$$
 and  $g(x) = \sqrt{x} - \frac{2x}{x+1}$ 

then by Lemma 2.3 we have

$$\begin{array}{cccc}
1 & f(a) & g(a) \\
1 & f(b) - f(a) & g(b) - g(a) \\
1 & f(c) - f(a) & g(c) - g(a)
\end{array}$$

or

10

$$[f(b) - f(a)][g(c) - g(a)] - [f(c) - f(a)][g(b) - g(a)] \ge 0$$

on simplifying the determinant leads to

$$f(b)[g(c) - g(a)] + f(c)[g(b) - g(a)] + f(a)[g(b) - g(c)] \ge 0$$
$$\sum f(b)[g(c) - g(a)] \ge 0$$

(3.15) 
$$\sum \left(\frac{\sqrt{a}-1}{2}\right)^2 \left(\sqrt{b}-\sqrt{c}\right)(b+1)(c+1)-2\left(\sqrt{b}+\sqrt{c}\right) \ge 0$$

From Lemma 2.2

(3.16) 
$$\sum \left(\frac{\sqrt{a}-1}{2}\right)^2 \left(\sqrt{b}-\sqrt{c}\right)(b+1)(c+1) - 2\left(\sqrt{b}+\sqrt{c}\right) = v\left(a; r = -\frac{3}{2}, k = 0\right) \ge 0$$

similarly by considering

$$f(x) = \sqrt{x} - \frac{2x}{x+1}$$
 and  $g(x) = \left(\frac{\sqrt{x}-1}{2}\right)^2$ 

$$(3.17) \quad \sum \left(\frac{\sqrt{a}-1}{2}\right)^2 \left(\sqrt{b}-\sqrt{c}\right)(b+1)(c+1) - 2\left(\sqrt{b}+\sqrt{c}\right) = v\left(a;r=-\frac{3}{2},k=0\right) = v\left(a;r=-\frac{3}{2},k=0\right) \le 0$$

By combining equations 3.16 and 3.17, the proof of Theorem 3.5 is completes.

## 4. Conclusion

Therefore, for various mixes of standard means communicated in practical shape, it has been conceivable to express concavity or convexity conditions as far as Vander monde determinants. It would hold any importance with think about more capacities at once and the conditions communicated regarding Vander monde determinants, might be diminished to inclining structure or triangular shape. This will help in promptly utilizing them as conditions at whatever point required in advance applications. Pertinence of these conditions in computational work must be investigated and there is a degree for additionally think about.

#### References

- [1]. S. Bullen, Handbook of Means and Their Inequalities, Kluwer Acad. Publ., Dordrecht, 2003.
- [2]. H. Hardy, J. E. Littlewood and G. Polya, Inequalities, Cambridge University Press, Cambridge, 1959.
- [3]. Lokesha and K. M. Nagaraja, Relation between series and important means, Advances in Theoretical and Applied Mathematics, 2(1) (2007), 31-36.
- [4] .Lokesha, K. M. Nagaraja and Yilmaz Simsek, New Inequalities on the homogeneous functions, J. Indone. Math. Soc., 15(1) (2009), 49-59.
- [5]. M. Nagaraja, Zhi-Hua Zhang, V. Lokesha and Zhen-Gang Xiao, Generalization of the weighted Heron mean in n variables, The Aligarh Bulletin of Mathematics, 26(1) (2007), 21-27.

11

12

- [6]. M. Nagaraja, V. Lokesha and S. Padmanabhan, A simple proof on strengthening and extension of inequalities, Adv. Stud. Contemp. Math., 17(1) (2008), 97-103.
- [7]. M. Nagaraja, V. Lokesha, Zhen-Gang Xiao and Zhi-Hua Zhang, The Generalized Weighted Elementary Symmetric Mean, Ultra Scientist for Physical Sciences, 22(2) (2010), 651-657.
- [8]. M. Nagaraja and P.S.K.Reddy, Logarithmic convexity of Double sequences, Scientia Magna, 7(2) (2011), 78-81.
- [9]. M.Nagaraja and P.S.K.Reddy, -Centroidal mean and its dual, Proceedings of the Jang-jeon Math. Soc., 15(2) (2012), 163-170.
- [10]. Rooin and M. Hassni, Some new inequalities between important means and applications to Ky-Fan types inequalities, Math. Ineq. and Appl., 10(3) (2007), 517-527.
- [11]. Toader and S. Toader, Greek means and Arithmetic mean and Geometric mean, RGMIA Monograph, (2005), Australia. Contemp. Math., 17(1) (2008), 97-103.
- [12]. Hen-Gang Xiao, Zhi-Hua Zhang, V. Lokesha and K. M. Nagaraja, A class of new three parameter generalized weighted mean, Int. J. Appl. Math. Stat., 11(7) (2007), 193-202.
- [13] A. M. Marshall and I. Olkin, Inequalites: Theory of Majorization and Its Application, New York : Academies Press, 1979.
- [14] K. M. Nagaraja, V. Lokesha and S. Padmanabhan, A simple proof on strengthening and extension of inequalities, Advn. Stud. Contemp. Math., 17(1) (2008), 97-103.
- [15] K. M. Nagaraja and P. Siva Kota Reddy, Logarithmic convexity and concavity of some Double sequences Scientia Magna, 7(2) (2011), 78-81.
- [16] B. Naveenkumar, Sandeepkumar, V. Lokesha, and K. M. Nagaraja, Ratio of difference of means, Inter-national eJournsl Mathematics and Engineeting, 100(2008), 932-936.
- [17] J. Rooin and M.Hassni, Some new inequalities between important means and applications to Ky-Fan types inequalities, Math.Ineq. and Appl., 10(3)(2007),78-81.
- [18] J. Sandor, The Schur-convexity of Stolarsky and Gini means, Banach J. Math. Anal., 1(2)(2007), 212-215.
- [19] H.N. Shi, Schur-Convex Functions relate to Hadamard-type inequalities, J. Math. Inequal., 1(1)(2007), 127-136.
- [20] H.N. Shi, M. Bencze, S.H. Wu and D. M. Li, Schur convexity of generalized Heronian means involving two parameters, J. Inequal. Appl., Volume 2008, Article ID 879273, 9 pages doi:10.1155/2008/879273.
- [21] I.J.Taneja, On a Di erence of Jensen Inequality and its Applications to Mean Divergence Measures, RGMIA Research Report Collection, http://rgmia.vu.edu.au,7(4)(2004), Art. 16. Also in:arXiv:math.PR/0501302 v1 19 Jan 2005.
- [22] I.J.Taneja, Refinement of inequalities among means, Journal of Combinatorics, Information and System Sciences, 2006, Volume 31, ISSUE 1-4, 343-364, arXiv:math/0505192v2 [math.GM] 12 Jul 2005 .
- [23] B.Y. Wang, Foundations of Majorization Inequalities, Beijing Normal Univ. Press, Beijing, China, 1990(in Chinese)
- [24] R. Webster, Convexity, Oxford University Press, Oxford, New York, Tokyo, 1994.
- [25] Zhen-Hang Yang, Schur Harmonic Convexity of Gini Means, International Mathematical Forum, Vol 6,2011, no. 16,747-762
- [26] R. Webster, Convexity, Oxford University Press, Oxford, New York, Tokyo, 1994.

(Sreenivasa Reddy Perla) Department of Mathematics, The Oxford College Of Engg , Bangalore - 560 068, E-mail address: srireddy\_sri@yahoo:co:in

(S Padmanabhan) Department of Mathematics, R N S I T, Uttarahalli-Kengeri Road, Bangalore - 560 060, India